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QUESTION 1

Complete the sentence. In a gap analysis, a building block that appears in the Target Architecture but does not appear
in the Baseline Architecture indicates

A. nonconformant solution building blocks

B. an error has occurred and the architecture must be re-evaluated
C. requirements have not been properly documented

D. functionality that should be eliminated

E. a new function that must be built or procured

Correct Answer: E

QUESTION 2

Which one of the following categories from the Document Categorization model consists of the normative parts of
TOGAF which are considered central to its usage?

A. TOGAF Core

B. TOGAF Mandated

C. TOGAF Recommended
D. TOGAF Referenced

E. TOGAF Supporting

Correct Answer: B

QUESTION 3

Complete the sentence. The TOGAF Technical Reference Model

A. is an example and should be tailored to the needs of an organization

B. must be used "as is" for developing comprehensive architecture models
C. contains several industry specific frameworks

D. is intended to contain the Enterprise Continuum

E. contains only solution building blocks

Correct Answer: A
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QUESTION 4

Which of the following best describes the TOGAF classification in Phase H for a re-architecting change?
A. A change driven by a requirement to derive additional value from the existing investment

B. A change driven by a requirement to increase investment in order to create new value for exploitation
C. A change driven by a requirement to reduce costs

D. A change driven by a requirement to reduce investment

E. A change driven by a requirement to re-align with the business strategy

Correct Answer: B

QUESTION 5

Which of the following statements best describes risk management in the ADM?

A. Risk analysis is best conducted in the Architecture Vision phase so that the risk is eliminated in subsequent phases
B. Risk analysis should be carried out first in the Migration Planning phase

C. Risk analysis is outside the scope of enterprise architecture projects

D. Risk is pervasive in all enterprise architecture activity and should be managed in all phases of the ADM

E. The only risks that are within the scope of enterprise architecture are technological risks

Correct Answer: D
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